
Scientific Notation (C)Convert each ordinary number to scientific notation.
0.00339 = 0.0052 =
0.00065 = 0.00000001008 =

0.0000000126 = 0.000008755 =
0.00003 = 0.00000003538 =

0.0000048 = 0.00314 =
0.000006619 = 0.000076 =

0.000088 = 0.00000033 =
0.00000001908 = 0.0000045 =

0.00006046 = 0.0000998 =
0.001904 = 0.00000361 =
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Scientific Notation (C) AnswersConvert each ordinary number to scientific notation.
0.00339 = 3.39 × 10⁻³ 0.0052 = 5.2 × 10⁻³
0.00065 = 6.5 × 10⁻⁴ 0.00000001008 = 1.008 × 10⁻⁸

0.0000000126 = 1.26 × 10⁻⁸ 0.000008755 = 8.755 × 10⁻⁶
0.00003 = 3 × 10⁻⁵ 0.00000003538 = 3.538 × 10⁻⁸

0.0000048 = 4.8 × 10⁻⁶ 0.00314 = 3.14 × 10⁻³
0.000006619 = 6.619 × 10⁻⁶ 0.000076 = 7.6 × 10⁻⁵

0.000088 = 8.8 × 10⁻⁵ 0.00000033 = 3.3 × 10⁻⁷
0.00000001908 = 1.908 × 10⁻⁸ 0.0000045 = 4.5 × 10⁻⁶

0.00006046 = 6.046 × 10⁻⁵ 0.0000998 = 9.98 × 10⁻⁵
0.001904 = 1.904 × 10⁻³ 0.00000361 = 3.61 × 10⁻⁶

Math-Drills.Com


